Dividing by Powers of Ten

5,800 + 10°
8,800 + 10°
28,000 + 107
38,000 + 10°
4,800 + 10°
150,000 + 10°
3,800 + 10°
40,000 + 107
2,300 + 10°
89,000 + 10°
8,400 + 10°
550,000 + 10°
52,000 + 10°

Dividing by 102

= 29,000 +
= 6,900 +
= 620,000 +
= 1,200 +
= 6,900 +
= 88,000 +
= 3,700 +
= 81,000 +
= 8,800 +
= 470,000 +
= 650,000 +
= 50,000 +

= 290,000 +
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Dividing by Powers of Ten Answers
Dividing by 102

5,800 + 10° = 58 29,000 + 10° = 290
8,800 + 10° = 88 6,900 + 10° = 69
28,000 + 10° = 280 620,000 + 10% = 6,200
38,000+ 10% = 380 1,200 + 10° = 12
4,800 + 10° = 48 6,900 + 10° = 69
150,000 + 10% = 1,500 88,000 + 10* = 880
3,800 + 10° = 38 3,700 + 10° = 37
40,000 + 10° = 400 81,000+ 10% = 810
2,300 + 10° = 23 8,800 + 10° = 88
89,000 + 10% = 890 470,000 + 10° = 4,700
8,400 + 10° = 84 650,000 + 10° = 6,500
550,000 + 10° = 5,500 50,000 + 10% = 500
52,000+ 10% = 520 290,000 + 10% = 2,900
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Dividing by Powers of Ten

Dividing by 100

5800+ 100 = 29,000 = 100
8,800 + 100 = 6,900 =+ 100
28,000 = 100 = 620,000 =+ 100
38,000 + 100 = 1,200 =+ 100
4,800 + 100 = 6,900 =+ 100
150,000 + 100 = 88,000 + 100
3,800 = 100 = 3,700 = 100
40,000 + 100 = 81,000 + 100
2,300 + 100 = 8,800 = 100
89,000 + 100 = 470,000 + 100
8,400 + 100 = 650,000 =+ 100
550,000 =+ 100 = 50,000 = 100
52,000 + 100 = 290,000 = 100
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Dividing by Powers of Ten Answers
Dividing by 100

5800+ 100 = 58 29,000 + 100 = 290
8,800 + 100 = 88 6,900 + 100 = 69
28,000 + 100 = 280 620,000 + 100 = 6,200
38,000 + 100 = 380 1,200 + 100 = 12
4,800 + 100 = 48 6,900 + 100 = 69
150,000 + 100 = 1,500 88,000 + 100 = 880
3,800 + 100 = 38 3,700 + 100 = 37
40,000 + 100 = 400 81,000+ 100 = 810
2,300+ 100 = 23 8,800 + 100 = 88
89,000 + 100 = 890 470,000 + 100 = 4,700

8,400 + 100 = 84 650,000 + 100 = 6,500
550,000 + 100 = 5,500 50,000 + 100 = 500
52,000 = 100 = 520 290,000 + 100 = 2,900
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